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Pyruvate Oxidation
_Pynwvate  enters the mitochondrion from the cytoplasm.
One _carbon_ atom is removed via _decarbowylation _ ang
hydrogen s removed using _NAD® . _Coenzyme A
becomes attached to the remaining _Carbon_ atoms,
creating _3¢ety1-COA_ \yhich then enters the Krebs cycle.

Krebs Cycle

Acetyl-COA_ enters the cycle and then combines
with _oxaloacetate 4 make the six-carbon compound
citrate__ pyring the eight steps of the Krebs cycle,

000 NAD citrate  yndergoes a number of reactions, releasing
i) C0:_and _ATP_in a number of steps. _Citrate_ js
L Con eventually converted into _0Xaloacetate _ 5o it can be
used again during the Krebs cycie.
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1. €Oz is released as waste.

2. NADH ang FADH; move to the next stage of cellular respiration.

3. Energy is released in the form of “ATP__ A glucose molecule produces WO
molecules of ATP_ because two molecules of _PYUVa'e_ are created from
each molecule of _glucose
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1. Glucose Activation
During the first four steps of glycolysis,
two phosphate groups _ are transferred to
glucose iz _ phosphorylation  where _ATP
is converted to _ADP__ The end product is

2. Sugar Splitting
_Fructose 1. 6-bisphosphate _ ges split into two

fragments, _dihydroxyacetone phosphate (DHAP)
and _glyceraldehyde 3-phosphate (G3P) =~ DHAP
then gets converted into _G3P__
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3. Oxidation

Both molecules of _G3P_ become oxidized using

D. 1, 3-bis 2 00000 . -
isphosphoglycerate: Aop NAD __ which becomes _NADH _ This process
releases _€N€TQY  which is used to attach
VS IARE __phosphates 15 yne sugars, making them
2 eee0 1. -bisphosphogiycerate

ote 4. Formation of ATP
During the last four steps of glycolysis, the _Phosphate
‘groups of the molecules are transferred to _ADP_,
._?_. creating _ATP_ This is done via the process of

E. phosphoenolpyruvate. 2 sl ovel. ation

F. pyruvate 2 ocabon  © oygen  © phosphate
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